ASSEMBLY INSTRUCTION

— F
— B M8*45

E
— D M8*16

When assembling, first tighten to 80% tightness, and after all parts
are assembled, all tighten to 100%.

Please strictly follow the instructions manuaor assembly. Using the
wrong screws mayresult in damage to the product.

@@@
M8*25

S

¢ &

M8*14

4pcs

M8*16

Tpcs

N

pc
pcC

S






